
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

8619.4 × 0.001 = ________ 2646.7 × 0.01 = ________

9979.5 × 0.0001 = ________ 3382.8 × 0.01 = ________

7808.2 × 0.1 = ________ 8028.6 × 0.01 = ________

4292.6 × 0.01 = ________ 4985.9 × 0.01 = ________

4896.4 × 0.1 = ________ 7529.3 × 0.0001 = ________

6064.1 × 0.1 = ________ 6567.5 × 0.001 = ________

2753 × 0.01 = ________ 1969.3 × 0.001 = ________

1360.7 × 0.0001 = ________ 4041.5 × 0.001 = ________

9193.2 × 0.1 = ________ 9533.8 × 0.001 = ________

7985.4 × 0.1 = ________ 8285 × 0.01 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

8619.4 × 0.001 = 8.6194 2646.7 × 0.01 = 26.467

9979.5 × 0.0001 = 0.99795 3382.8 × 0.01 = 33.828

7808.2 × 0.1 = 780.82 8028.6 × 0.01 = 80.286

4292.6 × 0.01 = 42.926 4985.9 × 0.01 = 49.859

4896.4 × 0.1 = 489.64 7529.3 × 0.0001 = 0.75293

6064.1 × 0.1 = 606.41 6567.5 × 0.001 = 6.5675

2753 × 0.01 = 27.53 1969.3 × 0.001 = 1.9693

1360.7 × 0.0001 = 0.13607 4041.5 × 0.001 = 4.0415

9193.2 × 0.1 = 919.32 9533.8 × 0.001 = 9.5338

7985.4 × 0.1 = 798.54 8285 × 0.01 = 82.85
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